	
Dusty Wilson 

Math 097
No work = no credit
	Name: ________________________________

We run carelessly to the precipice, after we have put
 something before us to prevent us from seeing it. 
Blaise Pascal (1623 - 1662) 
French mathematician
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 (Check your result).
________________________

6 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(3 pts) For the function 
[image: image9.wmf](

)

21

3

x

fx

x

-

=

+

, find:
i.) 
[image: image10.wmf](

)

0

f

 = ___________

ii.) 
[image: image11.wmf](

)

3

f

 = ___________

iii.) 
[image: image12.wmf](

)

3

f

-

 = ___________
7 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Use the graph to solve 
[image: image13.wmf]2

450

xx

-++³


[image: image19.png][ B4





________________________

8 MACROBUTTON MTPlaceRef \* MERGEFORMAT .) 
(4 pts) Use the test point method to solve 
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	i.) Domain: ________________________
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